ELEMENTARY SCHOOL PERSONNEL

THE CHIEF SCHOOL ADMINISTRATOR RECOMMENDS THE FOLLOWING ELEMENTARY SCHOOL PERSONNEL TO THE BOARD OF EDUCATION:

2019-2020 Staffing

Recommend approval of the appointment of <u>Michael Pape</u>, TCH.ES.ELEM.05.01, as a Teacher of English, for the 2019-2020 school year at **Step 4-5BA- \$54,775.00**.

Recommend approval of the appointment of <u>Julianna Rieth</u>, TCH.MS.ENGL.07.01, as a Teacher of English, for the 2019-2020 school year at **Step 6MA- \$59,175.00**, pending criminal history and employment history review.

Recommend approval of the appointment of <u>Debra Mills</u>, (UPC TBD), as a Teacher of Special Education (long-term replacement – 4690), September 1, 2019 through on or about November 27, 2019 at Step 1-2BA-\$52,475 (pro-rated), pending criminal history and employment history review.

Additional Compensation

Recommend approval of following staff to participate in the **Pre-School Orientation** schedule for August 27, 2019:

Name	Number of Hours	Hourly Rate	Not to Exceed
Heather Saake	1.5/hours	\$50.00	\$75.00
Melissa Melillo	1.5/hours	\$50.00	\$75.00
Kim Murin	1.5/hours	\$50.00	\$75.00
Kim Casner	1.5/hours	\$19.00	\$28.50
Patty Triggiano	1.5/hours	\$19.00	\$28.50
Elizabeth McLaughlin	1.5/hours	\$19.00	\$28.50
Kristine Rosko	1.5/hours	\$19.00	\$28.50

Recommend approval of <u>Anthony Cinelli</u> to be paid **as an attendee** at the HIB Legal Training (Brick, NJ) on August 14, 2019 at **\$30.00 per hour** for up to 3 hours (\$90.00 total).

Athletics/Addendum "C" Advisors

Recommend approval of the following Addendum "C" 2019-2020 SY coaching staff:

SPORT	СОАСН	STEP	STIPEND	LONGEVITY
CHEERLEADING COACH - WINTER	JAIMEE MCMULLEN	Α	\$1,350	N/A
CROSS COUNTRY COACH - BOYS	BRIAN MCCANN	А	\$2,550	N/A
CROSS COUNTRY COACH - GIRLS	JAIMEE MCMULLEN	Α	\$2,550	N/A

Recommend approval of the following Addendum "C" 2019-2020 SY advisors:

CLUB	ADVISOR	STIPEND	LONGEVITY
ROAD RUNNERS CLUB	KRISTINE PIERCE	\$1,081.00	N/A
HOMEWORK CLUB	NANCY SANDERS	\$2,366.00	N/A

Recommend the approval of the following *revised* additional compensation for the 2019-2020 school year:

Employee	Number of Hours	Hourly Rate	Purpose
	10 Hours		
Amelia Gliddon	June 2019	\$30.00	Advisor for Makerfest
	10 Hours		
AnnMarie LaMorticella	June 2019	\$30.00	Advisor for Makerfest

Recommend approval of the following *revised* appointments for **2019 Summer and ESY Special Education Summer positions**:

		\$50 per hour	
		Compensation	
		paid by	
		Warrior	
STEM CAMP GRADE 4	AMY EDWARDS	Clubhouse	10 Days, 2 Hours per day
		\$50 per hour	
		Compensation	
		paid by	
		Warrior	
STEM CAMP GRADE 5	JAIMEE MCMULLEN	Clubhouse	10 Days, 2 Hours per day

Warrior Clubhouse Before and After Care Program

Recommend approval of the **reappointment** of the following employees for the **Warrior Clubhouse Before and Aftercare Program** at Manasquan Elementary School for the 2019-2020 SY on an as-needed basis for the hourly rates listed below:

Employee	Position	Hourly Rate
Sandra Collins	Child Care Teacher	\$18.50 per hour
Meghan Dullea	Child Care Teacher	\$18.50 per hour
Nancy LeBlanc	Child Care Teacher	\$18.50 per hour
Lauren Brown	Child Care Teacher	\$18.50 per hour
Kristine Rosko	Child Care Teacher	\$18.50 per hour
Sheri DeGennaro	Child Care Teacher	\$18.50 per hour
Patricia Triggiano	Child Care Teacher	\$18.50 per hour

Resignation

Recommend approval of the resignation of <u>Moira Skea</u>, **TCH.MS.ENGL.07.01**, Elementary School Teacher of English, effective August 1, 2019.

HIGH SCHOOL PERSONNEL

THE CHIEF SCHOOL ADMINISTRATOR RECOMMENDS THE FOLLOWING HIGH SCHOOL PERSONNEL TO THE BOARD OF EDUCATION:

2019-2020 Staffing

Recommend approval of the appointment of **<u>Ryan Critelli</u>**, **TCH.HS.SSTU.FL.09**, as a Teacher of Social Studies, for the 2019-2020 school year at **Step 3BA- \$52,975.00**.

Recommend approval of the appointment of <u>Alicia Testa</u>, TCH.HS.SPED.LR.06, as a Teacher of Special Education, for the 2019-2020 school year at Step 5ABA- \$57,975.00 pending criminal history and employment history review.

Recommend approval of the voluntary transfer of <u>Jennifer Dyer</u> to Elementary School Special Education Teacher, **TCH.ES.SPED.RR.23** (50%) and High School Transition Program Teacher, **TCH.HS.TRNS.FL.01** (50%), effective for the 2019-2020 school year.

Recommend approval of the appointment of <u>Melissa Galano</u>, TCH.HS.DNCE.FL.01, as a Part-Time Teacher of Dance, for the 2019-2020 school year at Step 1-2BA - \$17,317.00 (33%), pending criminal history and employment history review.

Recommend approval of the appointment of <u>Amanda Mercadante</u>, **TLR.HS.LTRT.FL.03**, **High School Teacher of Art and Graphic Design** (long term replacement – 4721) from September 1, 2019 through on or about January 22, 2020 at Step 1-2 BA, \$52,475.00 pro-rated, pending criminal history and employment history review.

Recommend approval of the appointment of <u>Felicia Quadrel</u>, TLR.HS.LTRT.FL.02, High School Guidance Counselor (long term replacement – 4556) from September 1, 2019 through on or about December 20, 2019 at Step 1-2 MA, \$54,475.00 pro-rated, pending criminal history and employment history review.

Recommend approval of the following non-negotiated stipend position appointments for the 2019-2020 school year:

Position	Employee	Stipend Amount
Digital Communications Coordinator	Lisa Kukoda	\$2,990.00

Recommend approval of the 2019-2020 school year substitute and home instructor list, as per Document K-1.

DOCUMENT K

Mentors:

Recommend approval of the following stipends and mentor assignments for the 2019-2020 SY: monies will be payroll deducted from mentees in order to pay mentors – all mentors will be paid in the June 2020 payroll – prorated, if necessary.

Provisional Teacher	Mentor	Stipend
Amanda Mercadante (CEAS)	Linda Hoeler	\$330.00 (18 weeks)
Dana Warncke (CEAS)	Jill Santucci	\$257.00 (14 weeks)

Additional Compensation

Recommend approval of the following teachers to teach an **additional high school class** for the 2019-2020 school year:

Teacher	Subject Area	Term	Compensation
Eggie, Carlyann	English	FY	\$7,500.00
Graf, Ryan	Woodworking	FY	\$7,500.00
Morris, Meredith	Fashion	FY	\$7,500.00
Onorato, Jamie	English	S2 Only	\$3,750.00
Pagano, Nicole	Art	FY	\$7,500.00
Russo, Rosa	Italian	FY	\$7,500.00
Snyder, Jason	Math/Alt. School	FY	\$7,500.00

Recommend approval for <u>Cheryl Bontales</u>, High School Summer Nurse, to work an additional 24 hours (now maximum total of 96 hours) at \$50.00 per hour. (Previously approved for up to 72 total hours June 11, 2019).

Recommend approval of <u>Alicia Force</u>, augmentative consultant, to work two (2) hours per week with student #2833869032 for the 2019-2020 school year at a rate of **\$150.00 per hour**, not to exceed \$12,000.00. (paid by Sea Girt School District)

Recommend approval for <u>JoAnn Dietrick</u>, Administrative Assistant, to work an additional 125 hours for the 2019-2020 school year at \$35.00 per hour for the purpose of attending security and construction meetings.

Recommend approval of <u>Leigh Busco</u> to be paid **as an attendee** at the HIB Legal Training (Brick, NJ) on August 14, 2019 at **\$30.00 per hour** for up to 3 hours (\$90.00 total).

Athletics/Addendum "C" Advisors

Recommend approval of the appointment of the following Addendum "C" 2019-2020 SY coaching staff:

SPORT	СОАСН	STEP	STIPEND	LONGEVITY
GIRLS SOCCER – ASSISTANT	MARIA ELDRIDGE	С	\$4,622.00	N/A

DOCUMENT K

Recommend approval of the following *revised* Addendum "C" 2019-2020 SY coaching staff :

SPORT	СОАСН	STEP	STIPEND	LONGEVITY
VARSITY GIRLS TRACK & FIELD COACH	KRISTEN ZDANOWICZ	С	\$6,600.00	\$200.00

Recommend approval of the following Addendum "C" **2019-2020 SY** advisors:

CLUB	ADVISOR	STIPEND	LONGEVITY
CLASS ADVISOR	MARISA MARCO	\$2,606.00	N/A

Recommend approval of the appointment of <u>Autumn Sterner</u> as a **High School One-to-One Special Education Paraprofessional for Athletics** for the 2019-2020 school year (as needed) for Student #6796940236 at a paraprofessional hourly rate of **Step 1 - \$21.07 per hour**.

Recommend approval of the **resignation** of <u>Catherine Cahill</u> as an Addendum "C" **2019-2020 SY Assistant** Girls Soccer Coach.

Recommend approval for the following non-paid **volunteer coaches** for the 2019-2020 school year school:

Catherine Cahill – girls' soccer Alexander Iachetta – football (*pending employment history review*)

Resignation

Recommend approval of the resignation of <u>Louis Certo</u>, TCH.HS.SSTU.FL.09, High School Teacher of Social Studies, effective August 1, 2019.

Substitute List 2019-2020 SY

Name	Certified Teacher	Paraprofessional	Secretary	Custodian	Nurse
Black, Gina	Х	Х	Х		
Bontales, Alaina					х
Cade, Donna	Х				
Cassidy, Kathleen	Х				
Cheer, Margaret	Х				
Cosgrove, Kelly	Х				
Coulahan, Jacqueline	Х				
Cunningham, Sean	Х	Х	Х		
D'Agostaro, Maria	Х				
Daly, Gregory	Х	Х	Х		
Dellegrippo, Diane	Х	Х			
Dietrick, Sydney	Х	Х	Х		
Dora, Jenine					Х
Dropchinski, Michael	Х	Х			
Ertle, Erik	Х	Х			
Fallivene, Martin	Х				
Farrell, Mackenzie	Х				
Ferrante, Robert	Х	Х	Х		
Frese, Thomas	Х			Х	
Galizio, Gabrielle	Х				
Gaszynski, Stefan	Х	Х			
Goepfert, Rita	Х	Х			
Grecsek, Holly	Х	Х	Х		
Griffith, Richard	Х	Х	Х		
Guzman, Luis				Х	
Heenan, James	Х	Х			
Kelly, William	Х				
Kincaid, Marjorie					Х
Kinsberg, Barry	Х				
Kruysman, Lisa	Х				
Kuper, Jeremy	Х	Х			
Lancaster, Thomas	x				
Loffredo, Matina	Х				
Lyons, Amy	Х				
MacGLashan, Tara	Х	Х	Х		
Maloney, Carol			Х		
Mangione, Deborah	х		Х		
McGowan, Carolyn	Х				
Meehan, Eve	х				
Monaghan, Maryann	Х				
Neiberlien, Lynn					Х
O'Boyle, Tessa	Х	Х			

O'Brien, Robert	Х				
Paul, Barbara	Х	Х	Х		
Picker, Michelle		Х	Х		
Read, Molly	Х	Х	Х		
Richardson, Charles	Х				
Rogers, Jill	Х				
Rogers, Martin	Х				
Roman-Sarmiento, Nestor				Х	
Rooney, Amy	Х	Х	Х		
Rusoff, Kimberly					Х
Ruszczyk, Walter				Х	
Sanders, Lee	Х				
Sandilands, Robert	Х				
Sauter, Susan	Х	Х	Х		
Scerbo, Vincent	Х				
Schiller, Susan					Х
Schultz, Nicholas	Х				
Schwartz, Steven	Х				
Schwier, Harmony	Х				
Skubon, Patricia	Х	Х	Х		
Sorino, Louisa	Х				
Sorrentino, Michaela	Х	Х	Х		
Spalt, Jennifer	Х				
Stewart, Jill	Х	Х			
Sutor, Paul	Х				
Taormina, Charlene	Х				
Temple, Julie	Х				
Tilton, Jenna	Х	Х	Х		
Wall, Laura	Х		Х		
Walling, Caitlin	Х				
Walsh, Jeanne	Х	Х	Х		
Ward, Judith	Х				
Ware, Andrew	Х				
Whelan, Elvia			Х		

Home Instructor List 2019-2020 SY

Name	Certified Teacher
Ali McHugh, Karen	Х
Bates, Flora	Х
Borowsky, Nancy	Х
Condon, Gail	Х
Cousins, Susan	Х
Gilligan, Paula	Х
Hardie, Karen	Х
Joyce, Vincent Jerry	Х
Lawler, Alice	Х
Mangione, Deborah	Х
Martin, Roberta	Х
Ryan, Kathleen	Х
Shea, Anne	Х